OB EREANEIEH REA(ZDhOEEHY)
TEILENHYET,
ANEE (L TRE
AFEAHARNS OFEOHOHRZET
FEIEEFNEENEANAOOOO
(EAL : M)
FEEIEEFITEED
iad=! S F O DEE s
I IR
1. e
SEZhaE 150, 000 150, 000
RN =ERiNER 15, 000 15, 000
2 . HE b4 0
= BB 4 100, 000 100, 000
3. B4 0
= B R R Bh k4 50, 000 50, 000
4 FEEINE 0
OOFEHENIE 50, 000 50, 000
W AR e U A% ~ 50, 000 50, 000
5. % OIS ZTODMDEE 0
= BURLE fExFIEL TS 100 100
MEI A FEaELY, 1, 500 1, 500
e 366, 600 50, 000] (a) 416, 600
I &2
1.5
(1) A% 0
FaERR Y 200, 000 40, 000 240, 000
IR EE R 5, 000 4,000 9, 000
SR 2 F ANGEELZDM 0 0
tEFIE A2 BEIZHIT. X 0 0
N E H DR BERI = 205, 000 44, 000 (b) 249, 000
ey 1 HheH ° 3, 000 3, 000
b Gk 15, 000 5, 000 20, 000
DA 18 A2 0 0
FHFIE 0 0
DO 18, 000 5, 000] (c) 23, 000
%éﬁgﬁ’r 223, 000 49, 000 272,000
2.
(1) A% (b)+(e)
1% B 100, 000 100, 000
HEFREY 0 0
e 10, 000 10, 000
IBRRAG AT A 0 0
TR A e 0 0
N 110, 000 0 110, 000
(2) Zofhixt
N 0 0
i Gk 5, 000 5, 000
TR 1 A 2 0 0
FHFIE 0 0
Z DR E 5, 000 0 5, 000
BTHEH 115, 000 0 115, 000
REE R 338, 000 49, 000] (d) 387, 000
%ﬁﬁﬁ#ﬁﬁ%ﬁ (e) 28, 600 1, 000 29,600
I %M
1 - [BE B PE T HIAS 20D ELE 0 0 (a)=(d)
AR AL A TR FIE 0 0
W EERAS | EFEFEHI
1 @EE*EE“?IETE 1¥6$‘%“—;E§ 0 0 0
R E _— 1‘?; = 0 0 0
RFR KRR AFET. ® 1,000 A 1,000 0
4 ) TE R R E A TR 29,600 0 29, 600
A% LI IE R A PEAE r/ ‘ﬁ 50, 000
REBBERMER | rfiELEEEHTE (e)+(f) 79, 600

E DI ATHAREIE RS
ERHILEEN BT
BDILEHRLET




